1. Pewume ypasuenun no odpasuy:

K) 2(x-1)-5=3x+2, 3(x+2)-x=10 3(x-4)-x=8
2x-2-5=3x+2,

2x-7=3x+2,

2x-3x=2+7,

-X=9,

X=-9;

dx+3(x-7)=14 5-2(3-x)=I1

2. Betnoanume mecm:

Pemure ypaBHenue 2x — 32 = 24.

1) -6 2) 28 3) 56 4) npyro#i oTseT
[2] PemuTe ypaBuenme 13 — x = 4:11—.
1) 8% 2) 8° 3) 92 4) npyroii otser

Bribepure ypaBHeHHe, KOpHEM KOTOPOro sABJAAETCA 4HUCIO 6:
4x + 36 = 12, 3(x + 3) = 9, 5x — 30 = 2(x — 6).

1) nepsoe 2) BTOpOE 3) TpeTbe 4) TakKoro Hert
[4] Pemure ypaBnenne —3x — 8x + x = —32.

1) —2% 2) 2% 3) 3% 4) 1pyroi OTBeT
(5] Pemure ypaBuenue (-2x + 3) - %—(x—l%]-g.

1) 1% 2) % 3) —1% 4) n1pyroii orseT
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